e e X 7T R L

8 Bl e R L

=5

T DMB
g DMD HE-
DMN-A

&) T 75552 baomm DMN-B

© AR HRE L — B g SR
© JGIEAR YRR RL AT Bt AR 1 -

FHEEK

== =u

% UNIMEC

FLUID-Technik
¢ 40~ ¢4 100

HEEELARE (mm) $40 50 | 63 | 80 100
TAE RS BB TE & AR UE R BRI
FLEME TEEHE SUS304
15 FH 2 ) i [l (MPa) 7
i Kt 7] (MPa) 10.5
{5 FFSH B i [B]  (mm/sec) 0.5~300
5 FH ik L A 1 (°C) -10~+60
BRI
2 DMN 50 B 100(B C)- LB—Y -LNO1PX 2
l l l l l [ l l l l l
EER| @ BE =32 &E CIEE 5 RfERS
M&E Fidba R Vi 172 ETE =32 SEEFRE we
l l [ l [ l
40— 40 REAIHEE| | 50—50mm A :
é 50— somm| | m’f || 100—to0mm FA “ 2 ;E
63— ¢ 63mm| 18| | 150—150mm oE y
oms| | 80— 8omm| | N:msga | | 200 200mm —
i 100— g 100mm 250—250mm AR FB P
2503500 R P A e
400—400mm LA LNO3P: ¢ 80, 1005
DMD 450—450mm .
I 500—500mm T} |LB| rammweneenpmziams -
24VDC) -
HBERRUSYE B C 2-@%%@@&?&%5%&?5&”3? °
-~ 3 R4 -

.ﬁ@]ﬂﬁf*%
SEFRFE)RERR
AR mE —1&%%3{.@'& KZZRS | BsBgEEH | WO(FEDH | O/W/{EE)E
1 NBR O O X O O
2 PU O X X A A
3 | vITON @] X O o o
fiit : OFHIER X TRAIFHER ATSLRITA

3-8.1




I]M IS JE =T R R

% UNIMEC

FLUID-Technik

¢ 40~ 100
i ¥ 1] 4 Fet
PR R T -
FARES 50 100 150 200 250 300 350 400 450 500
%40 ® D D ® D D - - - -
#50 ® D D ® D D - - - -
$63 ® D D ® D D ® D 0 ®
80 ® D D ® D D ® D ® ® TC
100 ® D D ® D D ® D ° ®
5t - JEERTETEN TS
ey =PAN RP
{T*EE-L\ %i’% 247 1 mm
112 ~100 101~250 251~630 631~1000 1001~1600 1601~2000 HC
~ +0.8 +1.0 +1.25 +1.4 +1.6 +1.8
BE 0 0 0 0 0 0 HC M
A
2
it 135 #o:N | DO
Fared it SEERS 12{EEES] (MPa) DX
() || () || 2 3 4 5 6 7 8 9 10 DW
A 1256 2512 3768 5024 6280 7536 8792 10048 11304 12560
4 40 4 20 B 942 1884 2826 3768 4710 5652 6594 7536 8478 9420 DM
é 50 & 25 A 1963 3926 5889 7852 9815 11778 13741 15704 17667 19630
B 1472 2944 4416 5888 7360 8832 10304 11776 13248 14720 DH
@ 63 @ 35 A 3116 6232 9348 12464 15580 18696 21812 24928 28062 31180
B 2154 4308 6462 8616 10770 12924 15078 17232 19386 21540
é 80 ) 40 A 5024 10048 15072 20096 25120 30144 35168 40192 45216 50240 DK
B 3768 7536 11304 15072 18840 22608 26376 30144 33912 3768
® 100 & 50 A 7850 15700 23550 31400 39250 47100 54950 62800 70650 78500
B 5887 11774 17661 23548 29435 35322 41209 47096 52983 58870
N IR >
THMRELH F13HE 7K
FRELEH7] (N)
F P X A f P:fEFEEES (MPa)
- AZiEE (mm?)
fEEEZFE ] (N)

3-8.2



= 2D 1’5 {.__': s
JR% T =T JBR i P B8 5 A % UNIMEC
¢ 40~ ¢4 100
ELEYAE
DMBSK:] DMDSK:]
[iARES (3585 AR (58
40 DMBSK40 - &% No.13,14,15,16,17 40 DMDSK40 - 8% No0.10,11,12,13,14
50 DMBSK50 - &% No.13,14,15,16,17 50 DMDSK50 - &% No.10,11,12,13,14
63 | DMBSK63 - &34 No.13,14,15,16,17 63 | DMDSK63 - &4 No.10,11,12,13,14
80 DMBSK80 - A% No.13,14,15,16,17 80 DMDSK80 - &% No.10,11,12,13,14
100 DMBSK100 - £% No.13,14,15,16,17 100 DMDSK100 - A% No.10,11,12,13,14
@ DMB #U
@
V
711
w }
1]
—p—e e T T |
FER
No. LA Wi |No. A B |No LA Lie
1 [iE 1 7 (33 1|13 | KEEEIRIE 1
2 BE 1 8 M 1 |14 miEUEER 1
3 THIEAREE 1 9 2 1 |15 | WwEUEE 2
4 TE AT 1 10| R 4 |16 | mitkHOME 2
5 RN 1 1 HERE 8 |17 | {EHEOMR 2
6 HEHE 1 |12 #ig 8 |18 WA 1

FpkR

No. LA et |No L et |No L= Lie
1 i3 2 | 6| Bk 2 | 1| miBUEE 2
2 TR 1 7 | BT 4 |12 | HEUEE 2
3 TG ZEAR 1 8 | HEHE 8 |13 | witk#EORH 2
4 LA RS 1 9 | g 8 |14 | iHEORER 2
5 R EE 2 |10 | JREEFEIRIE 2 |15 ] WH 1

3-8.3



I]M % i =T R R T

SHERST

% UNIMEC

FLUID-Technik
¢ 40~ ¢ 100

3-8.4

U
® 0w [y oeos
A K P+{Fi2
@ $B DF FF EE EE
i H m m T T |:
LR @ @ LR Wiy |:
= | | TS
w s
1S i < N R B I
‘ B g RP
fan
) e
© W |F NA H+1378 NB
ORR 204512 BB HC M
5t QEERHIAAE
OEEEIE HCK
IHERSTR TH
HE | A B | BB DD DF | E EE F |FF| H K KK MM| NA|NB| P [RR| W |2J
»40 | 30 [ 35 | 12 [M10x1.25] 14 | 65 [PT1/4] 11 [ 11 | 60 | 60 [ M16x1.5| 20 | 36 | 26 | 84| 45| 25 | 158 DO
50 | 35 [ 40 | 12 [m10x1.25] 16 | 75 [PT3/8] 13 [ 9 | 60 | 66 [ M22x1.5| 25 | 42 | 34 | 88| 52| 25 | 174
$63 | 40 | 50 | 14 [M12x1.5 | 21 90 | PT3/8| 15 9 | 65 | 73 | M30x1.5| 35 | 42 | 34 93| 63| 30 | 186 DX
80 | 45 | 55 | 18 [M16x1.5 | 23 | 110 | PT 1/2| 18 7 | 65 | 79 | M30x1.5[ 40 | 46 | 39 95| 80| 30 | 198 Dw
»100] 50 | 65 | 22 [mM18x1.5 | 33 [ 135 [PT1/2] 20 | 7 | 74 | 95 [ M40x2.0| 50 | 50 | 40 | 104 | 102 [ 40 | 224 DM
E
U
. DMD 7 n DMD[]SD
K P12 DK
DF FF EE EE BB
[/ S\ ;
[a)
T 1l m m
ﬂ (RN W
| |
wls o
X — I
0 E( x o
W |F NA H+1318 NA F
A ZM+2 X 1712 A
2Z+2 X 1712
SIS
I | A B | BB DD DF | E EE! F |FF | H K KK MM|NA| P |[RR| W |ZM| Z2Z
40 | 30 [ 35 | 12 [M10x1.25] 14 | 65 [PT1/4| 11 [ 11 | 60 | 60 [ M16x1.5| 20 | 36 | 84 | 45| 25 | 204 | 264
¢ 50 35 | 40 | 12 |[M10x1.25| 16 75 | PT3/8| 13 9 | 60 | 66 | M22x1.5| 25 | 42 88| 52| 25 |220 | 290
63 | 40 | 50 | 14 [M12x1.5 | 21 90 | PT3/8| 15 9 | 65 | 73 | M30x1.5| 35 | 42 93| 63| 30 [239]319
80 | 45 [ 55 | 18 [m16x1.5 | 23 | 110 [PT1/2] 18 [ 7 | 65 | 79 [ M30x1.5| 40 | 46 | 95| 80| 30 [ 253 | 343
»100] 50 [ 65 | 22 [M18x1.5 | 33 [ 135 [PT1/2] 20 | 7 | 74 | 95 | M40x2.0| 50 | 50 [ 104 | 102 | 40 [ 294 | 394



FLUID-Technik
¢40~¢ 100

n % ==X 7P R A 7T 2 7% UNIMEC

BEERCIFRT

@ FA B - {iiiEREE &
4- ¢FB BDMB[]FA
e YR
— < #1% | EF | FB | FF [MF| R | TF |UF | W | ZF
7N EV-N \Q}f = T
;@ @ ‘ﬁ i i 540 | 69 11 [ 11| 11| 46| 95[118] 25 | 158
1 %t\\ i ol Tk 50 | 85| 11 | 9|13 | 58| 115]145] 25 [174
& w L $63 | 98] 14 | 9 | 15| 65]132]165] 30 | 186
@@ 9P = $80 [118] 18 | 7 [ 18 | 87[155[ 190 30 | 198
| = | w e ‘ $100[ 150 22 | 7 [ 20 [109]190]230] 40 | 224
UF ZF+{372 |
@ FB B! - (5353 [
4- 6FB n
DMB[IFB
ET SHE RS #R
GO @%’— T 1 ||&If | EF| FB | FF [MF| R | TF | UF | W | ZF
‘ ‘ 40 | 69 11 [ 11 [ 11 ] 46] 95[118] 25 [169
qc}} o % 50 | 85| 11 | 9|13 | 58| 115|145] 25 | 187
kﬁ 463 | 98] 14 | 9| 15| 65]|132]165] 30 | 201
@ & o d | = #80 | 118] 18 | 7 [ 18 | 87]155[190] 30 [216
‘ TE ‘ w vE| | »100[150] 22 | 7 | 20 [109] 190 230] 40 [ 244
UF ZF+{712 ]
e
@ CA B - i B HEE
#CD nDMBC]CA
SHER TR
T T ) @) ||f=|co| D | E |EW| L | T | W |zZT
- 540 | 16 | 45| 65| 20 | 38 | 11 | 16 | 196
N\ L $50 | 20 | 52| 75| 25 | 45 | 13 | 20 | 219
() &) |[¢63 ] 25 | 63| 90 30 | 54 | 15 | 25 | 240
T B $80 | 30 | 80110 35 | 71 | 18 | 30 | 269
Lo |w D 5100] 40 [ 102 [ 135 40 | 86 | 20 | 40 | 310
ZT+(782 ‘ CE
@ CB A - (L Z= E H[AE
Wi o]
DMB[ICB
\ | YR
il Tir (4 \ —
i fE|co| E |[EW|EY| L | T | W |zZT
540 | 16 | 65| 20 | 50| 38 | 11 | 16 | 196
N 50 | 20 | 75| 25 | 57 [ 45 | 13 | 20 | 219
63 | 25 | 90| 30 | 70| 54 | 15 | 25 | 240
T lew] 480 | 30 | 110 ] 35 | 80| 71 | 18 | 30 | 269
L |w EY $100] 40 [ 135 40 [ 100 | 86 | 20 | 40 | 310
2T+ LE

3-8.5



n % i =X 7 JRR SR P 12

TR RT

s
“

UNIMEC

FLUID-Technik

¢ 40~ ¢4 100

@ LA B - {5l i il 2 [ i
nDMB:]LA
5 - | MRS %
@f\ 4 0SB ‘ ‘ P fI# | LE | LH |sB|Ss|ST|Ts|xs|xw|us| | TC
@} w $40 | 70 | 37.5]| 11 | 91 14 | 95| 54 [145 | 118
A / T E . 50 | 82.5| 45 11|98 | 17 | 115| 59 [157 | 145 TS
= 15 L] [T ! $63 |95 [50 |14 [103 | 19 |132] 66 [169 | 165 |:
T8 | ’X—SJ%ﬂ 480 [115 [60 [ 18 [107.5 25 [155] 71 [178.9 190
. us XW+{THE | ¢ 100{138.5 71 22 [119 | 27 [190| 85 [204 |230 RP
nDMB[]LB HCK
TTH SRR
‘ ‘ 517 |AB| AE |AH | AL [AO| AT | R |SA|UA TH
4-6AB ¢40 | 11 [ 75.5] 43 [32.5] 13 | 8| 46[198] 69
50 | 11 [ 87.5] 50 [32.5] 156 | 8| 58[214] 85
& 5 7 5
— ; 63 | 12 105 |60 [37 | 18 | 70 | 65/ 230] s8] | DO
AL |AO| 80 | 18 (127 | 72 |49 20 | 12 | 87(266| 118 DX
SA+Ti2 ¢ 100] 22 |152.5| 85 |58 23 | 12 109|300 | 150 DW
@ TC I - HififiiiH) DH
BD
DMBLITC E
2 | IS ANIE 2]
_ I :‘—P /| BD|TE|TD|TL |TM|UM| ZC | ZJ
|4 sls &L -] Jﬁf A 540 | 28 | 65| 20 | 20 | 69 | 109 [102 | 158
=S i & 50| 33 | 75[ 25 | 25 | 85[135[110 | 174
@ | — ‘ $63 | 38 90 | 30 30 98 | 158 |119.5| 186
- »80 | 38 | 110 | 30 30 | 118 | 178 [126.5| 198
‘ F 100 48 [ 135] 40 [ 40 [ 145 [ 225 [147 [ 224
‘quD ZC+HFE/2 |
TE ZJ+312
LpIy
b lic {4 R~
@ YHUEGH
- 2]
3 or IMER T %
g ] B | fl{X[CA|CC|CD|CF|CT[FW| KK |RA|RF| @3
= H= Y-M16x1.5] 440 [ 50| 26 [ 16|35 [ 45 [ 20 [ M16x1.5 | 66] 24 | YM16150H
L3+ gi Y-M22x1.5| 50 | 60| 30|20 |40 |50 |25 | M22x1.5| 80| 30 [ YM22150H
8 ] Y-M30x1.5| 63 [ 80| 40| 25|50 |60 | 30 | M30x 1.5 |105| 40 | YM30150M
< ; § . Y-M30x1.5| »80 [ 80| 40| 30|60 |65|35| M30x1.5|110| 40 | YM30150H
S} =1 § i Y-M40 x2.0| ¢100] 90 | 50 | 40 | 80 | 90 | 40 | M40 x 2.0 |130| 40 | YM40200H
| Hk
o |



1 e =X ik B S L AC 7

% UNIMEC

FLUID-Technik
¢ 40~ ¢4 100

4-FB nDMD:]FA
FE__ MR &R
#1% | EF | FB | FF [MF| R | TF |UF | W | ZF
] 540 | 69] 11 | 11| 11 | 46| 95| 118 25 | 179
S S R — 50 | 85| 11 | 9| 13 | 58| 115|145| 25 | 195
! 563 | 98] 14 | 9| 15 | 65|132|165] 30 | 209
$80 | 118] 18 | 7 | 18 | 87]155]190] 30 | 223
- $100[ 150 22 | 7 [ 20 [109]190]230] 40 | 254
ZF+{T12 W2
@ LA 7 - i s 52
DMD[JLA
YT 2]
T | LE| LH [SB|SS|ST|TS | XS |XW|US
rss B 540 | 70 | 375| 11| 96| 14 | 95| 54 | 150] 118
_ 2 —— a3 [ws0 [ e28[45 |11 [102] 17 [115] 69 [ 161145
/ z ) 563 | 95 |50 | 14 | 107 19 | 132] 66 | 173 165
5 L] - = 580 [115 |60 |18 | 111 25 | 155| 71 | 182] 190
L1 | XS | SS+JfE | XS+{JRE $100[138.5 71 | 22 | 124 | 27 | 190 85 | 209 230
us XW+T2
® LB & - i I
DMDLILB
SR 2]
s I LERN = f14E | AB| AE [AH | AL |AO| AT | R [SA|UA
Ol S | e P e
115 (= - b : :
;@r"”g‘ 7 n+£ % 563 | 14 [105 | 60 [37 | 18 | 10 | 65]253| 98
| | QAL B AL Fg 580 | 18 [127 | 72 [49 | 20 | 12 | 87291 118
UA | SAHTHE } 5100] 22 |152.5| 85 |58 | 23 | 12 | 109 330 | 150
@ TC & - Hififif#H)
DMD[]TC
_BD_ 2N ES n
4% |BD | TE|TD | TL [TM |UM | ZC | ZJ
40 | 28 | 65| 20 | 20 | 69 | 109 [102 | 179
A @Awﬁ $50 | 33 | 75| 25 | 25 | 85135 [110 | 195
A4 63 | 38 | 90| 30 | 30 | 98 | 158 [119.5] 209
$80 | 38 | 110 | 30 | 30 | 118 | 178 [126.5] 223
100 48 | 135 | 40 | 40 | 145 | 225 [147 | 254

ZC+TR2 |
ZJ+HT18

3-8.7




n fﬁ

J‘\t‘\

LGNS

ZIHT R R LAC

% UNIMEC

FLUID-Technik
¢40~¢ 100

IR i NS
FIfE | STEFERARI | A B Cc D E
#40 LNO1P 337 | 33 32 [ M4x12L | M4
$50 LNO1P 366 | 37 32 | M4x12L | M4
$63 LNO2P 44 45 32 | M4x12L | M4
480 LNO3P 54 56 32 | M4x12L | M4
4100 LNO3P 65 67 32 | M4x12L | M4

3-8.8

@ il NN
g Ccbh CP CT =
cp B | HE B
cT Y-PIN [CB-PIN| Y-PIN [CB-PIN| Y-PIN [CB-PIN
P1659 | ¢40 | 16 16 59 64 | 46 51 | P16059
a P2066 | ¢50 | 20 20 66 73 | 51 58 | P20066 E
e P2576 | ¢63 25 25 76 86 61 71 P25076
P3081 | ¢80 | 30 30 81 % | 66 81 | P30081
P40114 [ ¢100[ 40 40 | 114 | 124 | o1 | 101 [ P40114 TS
@ 1250
cr RP
g '+ N
— MRS HC
:l: AR | FIfE |CA[CC|CD|CF|FW| J KK |RA|RF| Big3
gy | [exsTos0 Jssla0] 6 40120 6  wiexis | 75|20 | miieisor HC M
w } = 1-M22x1.5 | 50 | 65/ 35 [ 20 |50 [ 25 [10 | m22x1.5 | 90[ 25 [ IM22150H
w 1-M30x1.5 [ 963 | 80[ 40 [ 25 [ 55 [ 30 [12.5] M30x15 [110] 35 | IM30150M | | HOK
,Lx 1-M30x1.5 | »80 | 90[ 45 [30[60[35[15 [ M30x1.5 [125[ 35 [ IM30150H
‘ 1-M40x2.0 | »100[105[ 55 [ 40 [ 80 [ 40 [20 [ M40x2.0 [145[ 40 | IM40200H
W TH
| o
DO
DX
YR % D DWW
AR | EHE H KK swW BtE=
N-M16x1.5] 440 8 M16x1.5 24 NM16150 DM
N-M22x1.5] 450 11 M22x1.5 32 NM22150H
N-M30x1.5| 463 13 M30x1.5 41 NM30150H | | DH
N-M30x1.5| 480 13 M30x1.5 41 NM30150H
‘ H ‘ N-M40x2.0] 4100 15 M40x2.0 57 NM40200H
DK
Fr i
BB & 2E R~
@ DM #!
B c [¢]
R A I A | . N . ‘@



I]M AR TR

SHE RS

|57

TN

i X7 R L

s
“

UNIMEC

FLUID-Technik
¢40~¢ 100

@DMN__AE {52739 25mm nDMNmN,A
K P+{312
DF FF 2-EE BB, MA
2 MB ®
@ Vil wr @ ]
‘EPg=" - ) o
< | A ‘ &J/
Fl_NA NA _|F fic3 MC ©
Al w 2+{32 HA+(3i2 ol
ZA+2 X (T2 HRR
OE
5 @EEREILUE
OETERUE
SRR
fi#c= |A |B|BB| DD |DF|E| EE |F [FF|HA|K| KK |MA|MB|MC|MI |MM|NA| P [RR|W |Z |ZA
$40__| 30 [ 35 [ 12 | M10x1.25 | 14 | 65| PT1/4 | 11 | 11 | 71| 59| M16x1.5 | 60] 45 | 51| 42| 20 | 36 | 86| 45| 25 |154]280
$50 |35 [40 [12 | M10x1.25 | 16 | 75| PT3/8 [13 | 9 | 77| 65| M22x1.5 | 63|45 | 57| 50 | 25 | 42 | 90| 52 25 [170[307
$63 |40 [50 [ 14 | M12x1.5 | 21|90 | PT3/8 [15 | 9 | 81| 72| M30x1.5 | 65|45 | 61|60 | 35 | 42 | 95| 63| 30 [179]330
#80 |45 [55 [ 18 | M16x1.5 |23 [110| PT1/2 [18 | 7 | 81| 76| M30x1.5 | 65|45 | 61| 70 | 40 | 46 [101| 80| 30 [193 349
$100 | 50 |65 | 22 | M18x1.5_| 33 [135] PT1/2 |20 | 7 | 88| 92| M40x2.0 | 70| 45 | 68| 80 | 50 | 50 |110102] 40 214392
@DMN__ B A {7773 50mm
nDMNDNj
K P+{7i2
DF FF 2-EE BB, ME
8 MF ®
ol 2 xl - ol ([N _ls
5 4" | \W
o T O
Fl_ NA NA _|F| 138 MG ;?M
A W Z+712 HB+17#2 HRR
ZB+2x (312 -
SHERSTR
il%c (A |B|BB| DD |DF|E| EE |F [FF|HB|K| KK |ME|MF|MG|/MI|MM|NA| P |RR|W | Z (zB
$40_ |30 35|12 | M10x1.25 | 14| 65| PT1/4 | 11| 11| 96] 59| M16x1.5 | 85| 70 | 76| 42| 20 | 36 | 86] 45] 25 [154]305
#50 | 35|40 [12 | M10x1.25 | 16 | 75| PT3/8 | 13| 9 [102] 65| M22x1.5 | 88| 70 | 82| 50 | 25 | 42 | 90| 52| 25 [170[332
$63 |40 |50 |14 | M12x1.5 | 21| 90| PT3/8 | 15| 9 [106] 72| M30x1.5 | 90| 70 | 86| 60| 35 | 42 | 95| 63| 30 [179]355
#80 | 455518 | M16x1.5 | 23 [110| PT1/2 | 18 | 7 [106] 76| M30x1.5 | 90| 70 | 86| 70| 40 | 46 [101] 80| 30 [193 374
$100 | 50 | 65|22 | M18x1.5 | 33 [135] PT1/2| 20 | 7 [113] 92| M40x2.0 | 95| 70 | 93| 80| 50 | 50 [110]102] 40 [214]417

3-8.9



¢40~¢ 100

nM e JrEE =X JHT R R L AT 12 /% UNIMEC

longinn _ .
LSRR R (AT 25mm
@FA Bl - i i il =2
4-4FB FF n
DMN I N_A-FA
ST - IHBR T AP 10
© & i ) fI#E | EF|FB|FF |HA [MF| R | TF|UF| W |ZF
\ \ r
L)) s el o & = | [Feo T el mil o 7i ] i sel os[mel 25 e | 1O
I & | &1 L B | [@s50 [ 85| 11| o |77 [ 13 58| 115]145] 25 [195
o 9 | — D 463 | 98/ 14| 9 |81 [ 15 65]132]165] 30 [209] | RP
AR H $80 | 118] 18 | 7 | 81|18 | 87]155]190] 30 |223
R ] W B FF_ $100 [ 150] 22 | 7 | 88 | 20 [109] 190[230] 40 [ 254
EF ZF+i3i2 HA+{312 HC
HC M
@LA B - e ll iz [ ] 2 HCK
DMN CIN_A-LA
NS n - TH
ﬁ Q) s o N B /@ | LE | LH |HA|SB|SS|ST|TS|XA|XS[XW|US
@3 W FH [240 70 Ja7.s[ 71 11] o[ 14] o5T100] 54 [150] 118 DO
E % B #50 | s25[45 | 77| 11 [102[ 17 [115]111] 59 [161]145]
[T ] 51\ o e T e #63 |95 |50 | 81]14 [107] 19[132[117] 66 [173[165 | DX
| Lz | Lwy,?f‘”*iﬂ x:’;f;j* #80 |115 |60 | 8118 |111] 25 |155]122] 71 [182[190] | DW
e ‘ = #100 [1385]71_| 88| 22 [124] 27 [190]133] 85 |209]230)
DM
DH
DK
HA+T#2
it TR AR [
1% |AB|AE|AH|AL |[AO| AT [HA| R [SA|UA
088 $40 | 11 | 755 43 |32.5] 13 | 8 | 71 | 46 |219] 69
, #50 | 11 | 875 50 [32.5] 15 | 8 | 77 | 58 |235] 85
B % #63 | 14 [105 | 60 |37 | 18 | 10 | 81 | 65253 98
SA+TiE | #80 | 18 [127 | 72 |49 |20 [ 12 |81 | 87 [291[118
$100 | 22 [1525] 85 |58 | 23 | 12 | 88 |109[330]150
@TC 3! - Hilfiffedy
2 DMN 3 N_A-TC
"t SMERT# n -
A |slsl = N 7= [BD| TE|TD | TL [ TM|HA |UM| ZC |
=}
NZAl i h $40 | 28| 65] 20 | 20 | 69| 71109 [102 | 179
© o ‘ #50 | 33| 75| 25 | 25 | 85| 77 [ 135110 | 195
2 #63 | 38| 90| 30 | 30 | 98| 81 158 [119.5 209
21D ZCHReTR | #80 | 38 | 110| 30 | 30 | 118 | 81 | 178 [126.5 223
TE Z0+312 HA+Ti2 $100 | 48 [ 135 | 40 | 40 | 145 | 88 | 225 [147 | 254

3-8.10



I]M 1 e =X ik B S L AC 7

LEGRCIF T

1TH2 0] 37 50mm

OFA U - il A B &

s
“

UNIMEC

FLUID-Technik
¢40~¢ 100

2088 FF. nDMN CON_B-FA
_ .
(& [ &) H IR~ %R
o I & i $17@ | EF|FB|FF |HB [MF| R | TF |UF| W |ZF
| | 1 =
| /_\ Yo (o AD D %ﬂ‘n
‘ %—J/ ‘}—3 A7 \ V% $40 69| 11| 11| 96| 11 | 46| 95(118| 25 (179
o o U b LB #50 | 85| 11| 9 [102] 13 | 58|115]145] 25 [195
q}iAiq} - $63 98| 14| 9 |106| 15 | 65|132|165| 30 (209
L‘ 3 ‘ W: F FF $80 |118| 18 | 7 |106| 18 | 87[155(190| 30 |223
EF ZF+(i2 HB+52 #100]150[ 22 | 7 [113] 20 [109]190]230] 40 [254
QLA FU - e Al [] <2
) nDMNDN_B-LA
5 AN AN
@fﬁ A SB ‘ " | == | | &= |LE|LH|HB|sB|sS|ST| TS|XB|XS[xW|US
o
%Jﬁ E - \‘:‘% F_ B|[s40 |70 [37.5] 96 11] 96] 14| 95[125] 54]150] 118
T T 'U-)\_‘ LT _ﬁf%@ ¢50 | 825|145 [102] 11 |102[ 17 [115[136| 59 [161]145
| TS ﬁ XS | SS+{7f2 HB+{7%2 $63 |95 |50 [106] 14 |107| 19 [132[142| 66 [173]165
us XW+iTi2 | XB+172 $80 |115 |60 [106] 18 |111| 25[155[147| 71 (182190
$100 |138.571 [113] 22 |124| 27 [190[158| 85 |209]230
QLB B - (difyyay) Kl g2 [ €
HA+TR2
= nDMNDNA_B-LB
5 = T T T R TR
—=r—th
@j w = 17 |AB|AE|AH|AL|AO|AT [HB| R |SA|UA
@ @% =3 @ 4-$AB ¢ 40 11 | 755) 43 [32.5[ 13 | 8 | 96| 46 [219]| 69
T T T [ ! ¢50 | 11| 875 50 [32.5] 15| 8 [102| 58 |235| 85
—R_| AQ_AL B AL Fg #63 | 14 [105 | 60 [37 | 18 | 10 [106] 65 [253] 98
UA SA+THE | #80 [ 18 [127 | 72 [a9 [ 20 [ 12 [106] 87 [291[118
$100 | 22 [152.5] 85 |58 | 23 | 12 [113[109{330|150
@TC Z! - HflifsH)
o n DMN CIN_B-TC
.
=t AN AN
A |ss| N T |BD| TE| TD | TL | T™M |HB |UM| ZC | 2
H>
%ﬁ ¥ 40 | 28| 65[ 20 | 20 | 69| 96109 [102 | 179
3 & #50 | 33| 75| 25 | 25 | 85]102]135 110 | 195
2 #63 | 38| 90| 30 | 30 | 98| 106158 [119.5 209
47| ZCH2F %80 | 38110 30 | 30 | 118 [ 106|178 }126.5 223
TE ZJ+T82 HB+{7#2 $100 | 48 | 135| 40 | 40 [ 145 | 113|225 [147 | 254

3-8.11



& JrE X R R A4 "% UNIMEC

FLUID-Technik

$40~¢ 100
HE i kg
EASSE HEASE EAEE EXEE =25 mm
- DHBAE! DHDA DHN A#Y DHN B! DHD/DHNZ!
ARES
@40 3.66 0.14 4.8 5.5 5.8 0.21
¢ 50 6.15 0.22 8.0 9.1 9.5 0.32
¢ 63 8.7 0.34 1 12.6 13.2 0.53
# 80 14.6 0.54 17.3 19.5 20.3 0.80
¢ 100 23.8 0.75 27.8 30.9 32 1.14
HER #1: kg
FA FB LA LB CA CB+Ess TC Y+ | HHIZIE
RS oo — =0
oL [ JL |M|P 3 | @ | =m o
@40 0.3 0.6 0.5 0.6 0.6 0.7 0.6 0.6 0.6 0.02
¢ 50 0.8 1.2 0.9 0.8 1.0 1.1 1.0 0.9 0.9 0.04
¢ 63 1.3 1.8 1.0 1.4 1.8 2.1 1.2 1.5 1.2 0.08
¢80 1.4 2.7 1.6 1.8 3.0 3.6 21 1.8 1.8 0.08
5100 | 22 | 48 19 3.0 5.1 6.6 38 4.2 3.3 0.18
SREHE IR
AL ¢ 40, 50 63 *»80 100
A B B M10 % 1.25P| M12x 1.5P | M16x 1.5P | M18 x 1.5P
FHEHJ) (N - m) 42 56 120 160

3-8.12

(@)

HEEE

=
=10

o
D
=

83|

Qo
sX



